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Z 2 (Class) & Szt
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(HImX|== CHH] g2 - - - -
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(B1T| % ohe] b : - : -

Class C 2.35 4.07 0.35 -0.50
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(B1TA| % ofe] b : - : -

ZF)H| LA =(H K OHF): BMB S

T MALE LJEPLH B pjajo] 22 MIIE HEHSH= e ofklL|Ct

EXAES




TE ZZ 14 zZ 24 ZZ 34 ZZ 54
[E22Top10F i Alpet7 | Ry 0,60 i i i
SHAME=E 28
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FZ 2 (Class) & szt
Class A -0.11 - - -
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Class A-e 0.04 - - -
(HIZX| S CHE| Hap - - ) -
Class C -0.50 - - -
(HIZX| % | Hah - - ) -
Class C-F 0.16 - - -
(HIZX| S | Hap - - ) -
Class C-P1 - - - -
(HIZX| 4 ChHE| Hah - - ) -
Class C-P1e - - - -
(HIZX| 4 | S - - ) -
Class C-P2 -0.20 - - -
(HIZX| % | Hap - - ) -
Class C-P2e -0.04 - - -
(HImX| % che| M - - - -
Class C-W 0.30 - - -
(HImX| % che| A - - - -
Class C-e -0.15 - - -
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Class S 0.07 - - -
(HIXI % cfE| H1h - - - -
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(HImX| % che| A - - ) -
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usD 5,751 0 0 780 0 -40 0 0 0 506 0 6,997
(1337.70) (22.76) (0.00) (0.00) (3.09) (0.00) (0.16) (0.00) (0.00) (0.00) (2.00) (0.00) (27.69)
KRW 679 14,566 0 0 176 0 0 0 0 2,581 270 18,272
(1.00) (2.69) (57.64) (0.00) (0.00) (0.69) (0.00) (0.00) (0.00) (0.00) (10.21) (1.07) (72.31)
A 6,430 14,566 0 780 176 -40 0 0 0 3,087 270 25,269
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